
Quick
Check

2.5.23

Translate the problem to an algebraic equation and solve.

An 83-inch length of ribbon is to be cut into three pieces. The longest piece is to be 22 tnches

longer than the shortest piece, and the third piece is to be half the length of the longest piece. Find
the length of each piece of ribbon.

The length of the shortest piece of ribbon is I inches.

The length of the longest piece of ribbon is f inches.

The length of the third piece of ribbon is f inches.

-. ,*.-*J

.?

clnocrs.e #

=.[= ! (\a"?a't*) woe.at-u.!

i"A '; il-z + *)

+ At.+ry + L?tt+

curr,,tLr"r-c' \t\q- $ev vu"tE'

Page 1

1

r:t*zl\ti*"f 
'

'Pas\c

"@Y"
Lowges\ gitce

Tr^^:\o-\ I : \^o*9esf

J+ we
fi"^
o'"J

FitL rw, l9''" tox*(

S o\o" ecluo'}l"'.l

a.I is L"'l[ ]t'^o \* *X\"L 'L !\^'e \o"*ge'*f

-f r-o,^s\,.fs. 3tJ = )=- ( \o '^7s|)

a {'d

Jitf"ib.^te {

-x) = 8'b


